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QUESTION 1

Scenario: A Citrix Administrator created a content switching virtual server. The administrator is unable to 

bind the load balancing virtual server to the content switching virtual server. 

Which protocol is being used on the load balancing virtual server that is causing this issue? 

A. SSL 

B. TCP 

C. UDP 

D. SSL Bridge 

Correct Answer: D 

 

QUESTION 2

Which two pieces of information are required to create a virtual server? (Choose two.) 

A. Port 

B. Protocol 

C. Subnet Mask 

D. Gateway Address 

Correct Answer: AB 

 

QUESTION 3

Scenario: A company had a single datacenter location with a single NetScaler installed. A second datacenter location
was added and an administrator installed a second Citrix NetScaler at the second datacenter location. The NetScaler is
used for load balancing internal infrastructure solutions. The administrator plans to configure the environment so that it
will continue to work even if there is a datacenter failure. Only the primary datacenter location is connected to the
Internet. The configuration has to be synchronized automatically so that the configuration of both appliances is always
identical. How should the administrator configure the NetScaler devices so that continuity is maintained in the event of a
datacenter failure? 

A. As a GSLB cluster 

B. In a vRRP configuration 

C. As a high availability pair 

D. As standalone appliances 

Correct Answer: C 
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QUESTION 4

Scenario: A Citrix Administrator has implemented a remote access solution using NetScaler. The 

administrator is alerted with information indicating users attempting to access resources through NetScaler 

are unable to authenticate. 

How can the administrator identify whether the authentication process is the cause? 

A. Review the system log on the Domain Controller. 

B. Execute the Insconmsg -d eventI command on the NetScaler. 

C. Use the Icat aaad.debugI command on the NetScaler shell. 

D. Use the Ivi jvarjlogjauth error.logI command to review saved events on the NetScaler shell. 

Correct Answer: C 

 

QUESTION 5

Which port exchanges high availability heartbeats? 

A. TCP 80 

B. TCP 443 

C. TCP 3003 

D. UDP 3003 

Correct Answer: D 
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